
𝟐𝒚(𝒙) + 𝟏 = 𝟑�𝒚(𝒕)

𝟏

𝒙

𝒅𝒕    =>      𝟐𝒚(𝒙) + 𝟏 = −𝟑�𝒚(𝒕)

𝒙

𝟏

𝒅𝒕  

𝒅
𝒅𝒙�𝟐𝒚(𝒙) + 𝟏� = −𝟑 𝒅

𝒅𝒙 ��𝒚(𝒕)

𝒙

𝟏

𝒅𝒕�     =>       𝟐
𝒅𝒚(𝒙)

𝒅𝒙 = −𝟑𝒚(𝒙)     =>        
𝒅𝒚
𝒚(𝒙)

= −𝟏.𝟓𝒅𝒙 

�
𝒅𝒚
𝒚(𝒙)

= −𝟏.𝟓�𝒅𝒙      =>         𝒍𝒏�𝒚(𝒙)� = −𝟏.𝟓𝒙 + 𝒍𝒏𝑪     => 

𝒚(𝒙) = 𝒆−𝟏.𝟓𝒙+𝒍𝒏𝑪 = 𝒆𝒍𝒏𝑪 ∙ 𝒆−𝟏.𝟓𝒙 = 𝑪𝒆−𝟏.𝟓𝒙 

 :באמצעות איפוס האינטגרל 𝑪נחשב את כעת 

𝟐𝒚(𝒙) + 𝟏 = 𝟑�𝒚(𝒕)

𝟏

𝒙

𝒅𝒕     =>        𝟐𝒚(𝟏) + 𝟏 = 𝟑�𝒚(𝒕)

𝟏

𝟏

𝒅𝒕 =  𝟎       =>        𝒚(𝟏) = −
𝟏
𝟐 

𝒚(𝒙) = 𝑪𝒆−𝟏.𝟓𝒙   ,    𝒚(𝟏) = −
𝟏
𝟐    ,       =>       −

𝟏
𝟐 = 𝑪𝒆−𝟏.𝟓∙𝟏      =>       𝑪 = −

𝒆𝟏.𝟓

𝟐  

𝒚(𝒙)  =  −
𝒆𝟏.𝟓

𝟐 𝒆−𝟏.𝟓𝒙 =  −
𝟏
𝟐𝒆

𝟏.𝟓−𝟏.𝟓𝒙       =>        𝒚(𝒙) = −
𝟏
𝟐𝒆

𝟑(𝟏−𝒙)
𝟐  

 

 :נציב את הפיתרון במשוואה הדיפרנציאלית ונראה אם מתקבל פסוק אמת בדיקהל

𝟐
𝒅𝒚(𝒙)

𝒅𝒙 = −𝟑𝒚(𝒙)     =>         𝟐
𝒅
𝒅𝒙 �−

𝟏
𝟐𝒆

𝟑(𝟏−𝒙)
𝟐 �  =  −𝟑�−

𝟏
𝟐𝒆

𝟑(𝟏−𝒙)
𝟐 �        => 

−
𝒅
𝒅𝒙 �𝒆

𝟑(𝟏−𝒙)
𝟐 �  =  

𝟑
𝟐𝒆

𝟑(𝟏−𝒙)
𝟐        =>      −�−

𝟑
𝟐𝒆

𝟑(𝟏−𝒙)
𝟐 �  =  

𝟑
𝟐𝒆

𝟑(𝟏−𝒙)
𝟐    => 

𝟑
𝟐𝒆

𝟑(𝟏−𝒙)
𝟐 =    

𝟑
𝟐𝒆

𝟑(𝟏−𝒙)
𝟐     =>       𝑳.𝑯.𝑺 = 𝑹.𝑯. 𝑺 

 


